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EOC Review Unit 1 Review

EOC Practice Problems

1.

Look at the radical -8v726 . What is a rewritten form of the radicalez ('« /(;,,ufd“}’v!’”

7=\
"A,)-886 B. -90.75 C. -986/6 D. -2904
2. Look at the expression 2484420 . Which of these is equivalent to this expression?
Calewlater

A. 2/28 5. 5 (Cevio D. 32410
3. Which sum s ro’riono_L Perfect Sguare

A. 7+18 C‘A/zsﬂ 75 C. V3455 D. m++/2
4. Which product is irational2 Whole avmbe = ratiomal

Dec jmal HAM‘/ 5}4’»3 Ur;,;/u/{lq = i atioac f -

A. 250 B. V64-\4 C. 749 (D)V10-V8
5. Arectangle has a length of 12 meters and a width of 400 cen‘rime’rers What is the

perimeter, in cm, of the rectangle? ——— ”'l ,Z‘:}:’)

‘]'»{U&)ul\g 1 =y 10dem »{u.}
M 1500 t{3o

A. 824 cm B. 1600 cm C. 2000 cm @ 3200 cm
6. Jillswam 200 meters in 2 minutes 42 seconds. If each lap is 50 meters long, which is

most likely to be her time, in seconds, per lap?

?\ﬁ“% 2 min Ppsec = (G2 Sec ’“ = Y).$ seconde
SV~
A. 32 seconds @40 seconds C. 48 seconds D. 60
secs

/. In which expression is the coefficient of term “n" -12

A. 3n2+ 4n -1
B N2+ 5n + 4 e e
@ 2025 = “da" =la + 5
D. 4n2+n-5
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8. The expression s2is used to calculate the area of a square, where s is the side

length of the square. What does the expression (8x)2 represente

£t 5 S s Side /‘“J%

—r

A. the area of a square with a side length of 8
B. the area of a square with a side length of 16 Wie LV WL IREICCY N W

@The area of a square with a side length of 4x [ng P Bx 18 e gty
D

Nthe area of a square with a side length of 8x

9. Whatis the product of 7x — 4 and 8x + 5¢ (7/,< —l{)(;{x ;.9)

Bk £35Sy —32x —20
A. 15x + 1 B.30x + 2 @6x2+3x—20 D. 56x2-3x + 20

10. A model of a house is shown. What is the perimeter, in units, of the model?

@x“ﬂ 6xr — 4 bx + 1
b - Y
lax +3

l() ki [L(X 1,3
g o 12 4+ 3
> lax £ 3

r—————

Sox +1]

Ty + 13

A. 32x + 12 units
B. 46x + 25 units
50x + 11 units

. 64x + 24 units

11.Which expression has the same value as the expression?

’\
(8x2+ 2 - 6) Lo =3x )

A. 3x2 —x— 4 G+ dxmg, = Sx>* $35 =
(BD3x2 +5x-8

C. 132 —x-8 o ow e |
D. 13x2-5x—4 Ly S -g




